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1. =1¥ox 21 taught in the name of 71737 k33 »27 that most of the first month, the complete
second month and most of the third month, is sufficient for the 3 months of min2n. Where did
he learn that this calculation is valid? The only similar idea that we find is that a part of the day
is sometimes considered like a whole day, but here we have 2 out of three that are incomplete?

2. Further to the above, since at the end of the day, we have 2 months plus a little, why is he
considering the first month as incomplete? If anything the last month is the only month which is
actually incomplete. Was this said for o1k or is it even for oxw»1?

3. The xna discusses 3 months, but also mentions 90 days. If we are in a regular cycle of odd
and even months, 3 months are either 88 days or 89, but almost never 90. Which one is it?

4. The x nx asks why an man>x needs to wait 30 days, while during the 3 weeks (or even the
week before the week of axa 'v), we allow engagements. Why can’t we say that here it’s her
first husband’s honour which will be affected if she doesn’t wait 30 days, and it’s not a 17

m?°ax?

5. The xana concludes that there is a difference between mwTn n1%saxy mw° m»ax and between a

private m>°ax and 0°277 m>°a8. Why isn’t one answer sufficient? It doesn’t seem like we are
offering 2 answers, because the X123 doesn’t say R K N°Y2°X1?

f you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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